
Multiply by 10⁻² (A)Find each product.
27 × 10⁻² = 71 × 10⁻² =
30 × 10⁻² = 34 × 10⁻² =
33 × 10⁻² = 57 × 10⁻² =
70 × 10⁻² = 44 × 10⁻² =
6 × 10⁻² = 69 × 10⁻² =
33 × 10⁻² = 22 × 10⁻² =
53 × 10⁻² = 87 × 10⁻² =
79 × 10⁻² = 81 × 10⁻² =
10 × 10⁻² = 47 × 10⁻² =
4 × 10⁻² = 43 × 10⁻² =
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Multiply by 10⁻² (A) AnswersFind each product.
27 × 10⁻² = 0,27 71 × 10⁻² = 0,71
30 × 10⁻² = 0,3 34 × 10⁻² = 0,34
33 × 10⁻² = 0,33 57 × 10⁻² = 0,57
70 × 10⁻² = 0,7 44 × 10⁻² = 0,44
6 × 10⁻² = 0,06 69 × 10⁻² = 0,69
33 × 10⁻² = 0,33 22 × 10⁻² = 0,22
53 × 10⁻² = 0,53 87 × 10⁻² = 0,87
79 × 10⁻² = 0,79 81 × 10⁻² = 0,81
10 × 10⁻² = 0,1 47 × 10⁻² = 0,47
4 × 10⁻² = 0,04 43 × 10⁻² = 0,43
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